Name: ___________________________


Chemistry I
Gas Laws Worksheet #2
Helpful Relationships

 
K = ºC + 273

ºC = (ºF-32)/1.8


ºF = (ºC x 1.8) + 32
I.
Convert the following temperature
(a)   150 ºC = __________ K
(b)  212 ºF  = __________ ºC
(c) -49 ºC = ___________ K
(d)  32 ºF = __________ K
II.
Rearrange the following equation to solve for the specified variable

V1/T1 = V2/T2
(a) Solve for V1 = 

(b) Solve for T1 = 

(c) Solve for T2 =

(d) Solve for V2 =
III.
Solve the following Charles’ Law problems (All temps must be in K)
(a) Helium gas at 22 ºC and 1.00 atm occupies a vessel whose volume is 2.54L. What volume would this gas have if it were cooled to liquid-nitrogen temperature (-197 ºC)? Assume constant pressure.
(b) A sample of argon gas at 19 ºC is occupies a volume of 62.3 cm³. Later the temperature is changed and the gas is found to occupy a volume of 46.7 cm³. What is the new temperature of the gas?
(c) A vessel containing 39.5 cm³ of helium gas at 25 ºC and 106 kPa was inverted and placed in cold ethanol. As the gas contracted, ethanol was forced into the vessel to maintain the same pressure of helium. If this required 18.8 cm³ of ethanol, what was the final temperature of helium? (Hint: First you must find the new volume that the helium occupies)
(d) An experiment called for 5.83 L of sulfur dioxide at 0 ºC and 1.00 atm. What would be the volume of this gas at 25 ºC and 1.00 atm?
